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Call Cal_stress(n_Member, Member, al, sin_cos, disp, F_rest, Element, C_M_Q)

ZOVTNN—F 0%, LTOLHI>THY, NFIFZIZEEHL <IX7un,

BMISHOEELHAN

Private Sub Cal_stress(n_Member, Member, al, sin_cos, disp, F_rest, Element, C_M_Q)
Dim i As Integer

Dim j As Integer

Dim j1 As Integer

Dim i1 As Integer

Dim mx As Integer

Dim Mc As Double

Dim R(6, 6) As Double
Dim ak (6, 6) As Double
Dim u(6) As Double
Dim uu(6) As Double
Dim ff(6) As Double

SEMIZDNTEHE
For i =1 To n_Member
mx = Member (3, i)

M EEAZ R DRIEITHIEE
Call Cal_k(i, ak, al, mx, Element)

EER{THEE
Call Cal_rot(i, R, sin_cos)

MDD EMLEEREZROEMMSIY HT
Call Get_M_u(Member (1, i), Member (2, i), u, F_rest, disp)
MIRERL E 2R EIZRN O M EIZRICE R

Call Cal_rotate(R, u, uu)

Mimph P ROBMIFE—A D FHE
Call Get_stress(i, ak, uu, ff, C_M_Q, Mc)

M EH A
Call Out_stress(ff, i, Mc)

Next

End Sub

FROVTN—F U THEETN TV DY T NA—F &L FIZRT, 1
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Private Sub Get_ M u(il, i2, u, F_rest, disp)
Dim j As Integer
For j =1 To 3
u(j) = o4
If (F_rest(j, i1) > O#) Then u(j) = disp(F_rest(j, i1))
Next
For j =1To 3
u(j +3) =04
If (F_rest(j, i2) > O#f) Then u(j + 3) = disp(F_rest(j, i2))
Next
End Sub

#HimsN NEtE

Private Sub Get_stress(m, ak, uu, ff, C_M_Q, Mc)
Dim i As Integer
Dim j As Integer
Dim s As Double

For i =1 To 6
s = Of

For j=1To 6

s =s + ak(i, j) * uu(j)

Next
ff(i) =s
Next
' MiGEERDIGHEERD
Mec = (-ff(6) + ff(3)) * 0.5 + C_M_Q(2, m)
ff(2) = ff(2) - C_M.Q(3, m)
ff@3) = ff@) - C_MQ, m)
ff(6) = ff(5) - C_M_Q(3, m)
ff(6) = ff(6) + C_M_Q(1, m)
End Sub

HMims T E 5

Private Sub Out_stress(ff, i, Mc)
Dim j As Integer

Dim F_cel

Dim F_sheet

F_sheet = "fEAT#ER"
F_cel = “F3”

Worksheets (F_sheet) . Range (F_cel). 0ffset (i, 0).Value = i
For j=1To 6
Worksheets (F_sheet) . Range (F_cel). 0ffset (i, j).Value = ff(j)
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Next
Worksheets (F_sheet) . Range (F_cel).0ffset (i, 7).Value = Mc
End Sub

AT, ZNETIHHAL CZ ol T —F 2D gl
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load_P () IZHEAA EN T EHITBEIEER TH S0, TDOFEFE, Hin
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6.4 TOfDHT
N—F2

Ei R EDERE

Private Sub Set_load_S(pload, n_P_load, load_P, F_rest)
Dim i As Integer
Dim j As Integer
Dim i1 As Integer
Dim j1 As Integer

For i =1 To n_P_load
i1 = load_P(1, i)
For j=1To 3
j1 = F_rest(j, i1)
If (j1 > 0) Then
pload(j1) = load_P(j + 1, i) + pload(j1)
End If
Next
Next
End Sub

EHRERLDH S

Private Sub Out_disp(disp, n_point, F_rest)
Dim F_cel

Dim F_sheet

Dim i As Integer

Dim j As Integer

Dim j1 As Integer

Dim u As Double

F_sheet = "fE#T#ER"
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F_cel = "A3”
For i =1 To n_point
Worksheets (F_sheet) . Range (F_cel).0ffset (i, 0).Value = i
For j =1To 3
u = 0#
If (F_rest(j, i) > Of#f) Then
j1 = F_rest(j, i)
u=disp(j1)
End If
Worksheets (F_sheet) . Range (F_cel) . 0ffset (i, j).Value = u
Next
Next

End Sub
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